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Large pizzas cost £8.50 each.

Small pizzas cost £6.75 each.

Five children together buy one large pizza and three small pizzas.
They share the cost equally.

How much does each child pay?

Show

your
method
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Seb goes on a sponsored walk to collect money for charity.
His aunt promises to pay 75p for each kilometre he walks.
She pays him £6.75 at the end of the walk.

How many kilometres does Seb walk?





image9.png
You save £1.50 per week.

£18.49

How many weeks before you can buy this book?

weeks
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Plastic cups are sold in packs of 8

Amir needs 27 cups.

How many packs must he buy?
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50 children need one pen each.

Pens are sold in packs of 4

How many packs of pens need to be bought?
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Here are six cards.

{ x 10 ’ x 100 ‘ x 1000 ’
{ +10 ’ +100 ‘ ‘+1000 ’
Use a card to complete each calculation.
5.3 = 0.53
5.3 = 5300
5.3 = 0.053
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Write in the missing number.

96
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Write in the missing number.

3400 =+ = 100
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Calculate 936 + 36

Show

your
method





